
Sorting Orders of Arrays
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Computational Problem: Is an Array Sorted?

i i < a.length a[i] <= a[i + 1]
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Computational Problem: Is an Array Sorted?

i i < a.length a[i] <= a[i + 1]
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Lecture 3

Part F

Loops and Arrays -
Short Circuit Evaluation and Indexing



Unguarded Array Indexing

ns
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Test Inputs:
  i = -1
  i = 3O
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Guarding Array Indexing using Short Circuit

ns

0 1 2

Use of Conjunction (&&)

Test Inputs:
  i = -1
  i = 3
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Guarding Array Indexing using Short Circuit

ns

0 1 2

Use of Disjunction (||)

Test Inputs:
  i = -1
  i = 3O
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Guarding Array Indexing using Short Circuit

ns

0 1 2 Use of Conjunction (&&)
Exercise

Test Inputs:
  i = -1
  i = 3

Q. L10: 0 <= i && ns[i] % 2 == 0 && i < ns.length?
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Guarding Array Indexing using Short Circuit

ns

0 1 2 Use of Disjunction (||)
Exercise

Test Inputs:
  i = -1
  i = 3

Q. L10: i < 0 || ns[i] % 2 == 0 || i >= ns.length?
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Loops and Arrays -
Common Errors



Common Errors: Improper Initialization of Loop Counter

→
T→H④I

,

×

nothing will be executed

fix : boolean userWantsToGatame = tide ;



Common Errors: Improper Stay Condition
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Common Errors: Improper Update to Loop Counter
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Common Errors: Improper Update to Stay Condition
' ' 'C"
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. userWantsContinue -- answer -equals ( ' 'Y");

]
Logical Error : infinite loop if 1st iteration

allowed
'i userWantsTohonttnaue net updated.



Common Errors: Improper Initial Value of Loop Counter
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Common Errors: Misplaced Semicolon
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